VECTOR ARITHMETIC - ANSWERS
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(1-5) Let G=2i +3j+4k, V=i -5]+k,and w=-3i —2] -8k . Find the following.
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U+V+W=(234)+(1-51)+(-3,-2,-8)=(0,-4,-3)

30 -V - 2w
30 -V -2W=23(2,34)-(1,-5,1)-2(-3,-2,-8)
=(6,9,12)+(-1,5,~1)+(6,4,16) = (11,18,27)

2(0+V)+W

2(T+V)+W=2((2,34)+(1,-5,1)) +(-3,-2,-8)
=(4,6,8)+(2,-10,2) +(-3,-2,-8) =(3,-6,2)

0+3(V-w)
U+3(V-w)=(2,34)+3((1-51)—(-3,-2,-8))
=(2,3,4)+(3,-15,3) +(9,6,24) = (14,-6,31)
4% — 3W

V=-i+5)-2k and Ww=3i + J+k. Find —2v + 4w

20U + 4w = (21 —10] + 4K) + (121 + 4]+ 4K) =14i —6] + 8K

. Letv=—-i+5]-2k and W=3i + j+k. Find v—2w.
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